gr 8 u2 int day 5 dividing w models (Solutions to pg 80 and 74)(2014).not8epdémber 12, 2023

Warm Up Grade 8
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1) Use rules to find the quotient (-18) + (-9) then write 2 multiplication

statements using the statefnent. SOt (‘q-) X (*1) ;Q-)Y)
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3) Find the product using the distributive property show all
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1) Multiply (-93) (-82)

Find m = multiply g @\

Given Yoisd dwide G"“w

neo l’ N<A

2) Devon Withdrew $6 each week for thdraw;f

$48.§Use integers to find the number of weeks the thal he
did this for.

49+ ()= ¢8)
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Class / Homework

—Yo (~ =%

Page 80 - 81 #10 #14 ( ?:((_7_._
M #15 QANE

#12  #16 (H=(¥=+

R

Page 99 #1(a,b,c, d, e,f,g,h USE RULES)

Quiz Friday (Tomorrow)
*on multiplication modelling with tiles & rules & Box Method

*Division Rules
if you need more pg 166 # 8 to #15
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